Institution:	Balanced	Nutrition In		d and Adult C	Care Food P	rogram (CACFP)) Agreement #: 9	9460
Facility:	Apple Tree	e Wee Scho	ool, Inc.				Claim Month/Year: F	eb-24
Centers:		Free	Reduced	Paid	Total	FY 2024	July 1, 2023-June 30, 20	024
	Reported	53	20	19	92		Total Attendance	
	Verified #	53	20	19	92	4	pants Classified as Free, R	educed
	Verified %	57.6087%	21.7391%	20.6522%	100.0000%	and Paid		
			Meals	Disallowed				
Meals	Reported	Verified	Allowed	Meals	Reason	Rates	Verified x Rates	Totals
Breakfast:	556	309		247	Н			
F		178				\$2.2800	\$405.84	
R		67				\$1.9800	\$132.66	Breakfast =
Р		64				\$0.3800	\$24.32	\$562.8200
AM Snack:	0	0						
F	DESTRUCTION OF THE PARTY OF THE	0				\$1.1700	\$0.00	
R		0				\$0.5800	\$0.00	AM Snack =
Р		0				\$0.1000	\$0.00	\$0.0000
Lunch	823	720		103	Н			
F		415				\$4.2500	\$1,763.75	
R		157				\$3.8500	\$604.45	Lunch =
Р		148				\$0.4000	\$59.20	\$2,639.8000
PM Snack:	1066	804		262	Н			
F		463				\$1.1700	\$541.71	
R		175				\$0.5800	\$101.50	PM Snack =
Р		166				\$0.1000	\$16.60	\$659.8100
Supper:	0	0						
F		0	1		†	\$4.2500	\$0.00	3
R		0	†			\$3.8500	\$0.00	Supper =
P	7	0		 		\$0.4000	\$0.00	\$0.0000
LPM Snack	0	0		 	 			
F	-	0	 		 	\$1.1700	\$0.00	
R		0	 		—	\$0.5800	\$0.00	LPM Snack =
P		0	 			\$0.1000	\$0.00	\$0.0000
	ieu Portion					\$0.2950	\$212.40	
Food Port		·	Valley by the second	1 P 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		V 0.2000	\$3,650.03	
	fied Reimb	ursement:					40,000.00	\$3,862.43
	Amount d	ue to State	Agency:	\$1,039.83		Reimburseme	nt Paid to Institution:	\$4,902.26
	Amount d	ue to Instit	ution:	\$0.00		Verified Reimb	oursement:	\$3,862.43
					•	Difference (Pa	id minus Verified):	\$1,039.83
Note: If the di	fference is a pos	itive number the	en money is owed	to the State Age	ncy. If the differ	ence is a negative num	ber then money is owed to the Insti	tution.
				ons for Allo				
	F=Missing	/Incomplete		tion of Enroll				
		Meal Comp						
	TT Wildowig	wicar comp	orient(o)		Management of the second			
		and the second desired and the second						
Lastrasida		:		CAC 100I	E "Boulou o	nd Annual Broom	duran" datailing my appe	al rights
				IIII CAC 1001	E Review a	nu Appeal Floce	edures" detailing my appe	airigitts
ii money is	s owed to th	e State Age	ericy.					
Sent	100 1	Para	1 TEXIN	Ca Kr				
Signature of	Institution's Au	thorized Repre	esentative Ti	tle	-	Date		
		-				-11- 1		
Line	nell	\mathcal{N}^{j}			_	1173 7	3	
Signature of	CACFP Comli	ance Specialis	t			Date		

Copy: Consultant

Copy: Institution

Distribution: Original and Copy: State Agency

REVIEW AND APPEAL PROCEDURES

An amount owed to the State Agency indicated on page 1 of the CAC 100E form will become effective **fifteen (15)** days from the date of this notice unless you request 1) an informal review or 2) an appeal.

1) You may request an informal review by submitting a written request for an informal conference within fifteen (15) days of receipt of this notice or by submitting written documentation in lieu of an informal conference within fifteen (15) days of the date of this notice. Send your request and/or written documentation with a copy of this notice to:

Child and Adult Care Food Program Community Nutrition Services Section Division of Child and Family Well Being Women's and Children's Health Section 1914 Mail Service Center Raleigh, North Carolina 27699-1914

The agency will fully consider all information you provide before making a review decision in this matter. Following the informal review, the agency will notify you of its decision in writing and of your appeal rights, in the event the agency's review decision is not satisfactory to you.

2) Alternatively, you may waive your right to an informal review and request a formal appeal of the amount owed to the State Agency by filing a petition for a contested case hearing with the Office of Administrative Hearings (OAH) in accordance with N.C. Gen. Stat. §130A-24 and N.C. Gen. Stat. §150B-23(a). A petition form is enclosed for your convenience. In addition, a petition form can be obtained online at http://www.ncoah.com, by calling OAH at (919) 431-3000, or by writing them at the address below:

Office of Administrative Hearings 6714 Mail Service Center Raleigh, NC 27699-6700

Your petition, both the original and a copy, must be filed with OAH within fifteen (15) days of receipt of this notice. If you file electronically or by fax, please designate your petition as "CACFP Expedited". If you file a petition, you must also serve a copy of the petition on:

Julie Cronin
Department of Health and Human Services
Office of Legal Affairs
2001 Mail Service Center
Raleigh, NC 27699-2001

Please note, you should receive **fifteen (15) days** advance notice from OAH of the time, date, and location of your hearing. Furthermore, no continuances will be granted by OAH for any reason due to the time limitation imposed by 7 C.F.R. §226.6(k)(5)(ix) for rendering a final decision.

Child and Adult Care Food Program (Form CAC 101)

	-	Claim Month /	Year Affected	Feb-24
Name: Balanced Nutr	ition, Inc Apple			
Tree Wee Scho	ool, Inc	-	Agreement No.	9460
CACFP Administrative	I		Potentially	
Expenses	Reported Cost	Verified Cost	Allowable Cost	Disallowed Cost
Administrative Labor	neported cost	Vermed cost	Allowable cost	Disanowed Cost
Administrative Fringe				
Benefits				
Administrative Equipment				
(Direct Expense)				
Administrative Equipment				
(Depreciation)				
Administrative Supplies				
Communications				
Rent				
Utilities				
Insurance				
Administrative Contracted				
Administrative Travel				
Administrative Training				
Indirect Cost				
Other Administrative Costs				
Affiliated Center's				
Administrative Expenses				provinces to
Total Administrative Cost	\$0.00	\$0.00	\$0.00	\$0.00
CACFP Operating Expenses				
Non- Food Supplies	\$43.44	\$42.34		\$1.10
Operating labor				
Operating Fringe Benefits				
Rent				
Utilities				
Contracted Services				
Food	\$1,824.04	\$820.50		\$1,003.54
Food Service Management				
Operating Travel				
Operating Equipment Direct/				
Depreciation				
Other Operating Expenses				
Total Operating Cost	\$1,867.48	\$862.84	\$0.00	\$1,004.64

Reimbursement Amount	\$4,902.26	
Total Verified Expenses	\$862.84	
Over/ Under Amount	-\$4,039.42	
Nonting Fr	deal Expre	~

REVIEW AND APPEAL PROCEDURES

An amount owed to the State Agency indicated on page 1 of the CAC 101 form will become effective **fifteen (15)** days from the date of this notice unless you request 1) an informal review or 2) an appeal.

1) You may request an informal review by submitting a written request for an informal conference within fifteen (15) days of receipt of this notice or by submitting written documentation in lieu of an informal conference within fifteen (15) days of the date of this notice. Send your request and/or written documentation with a copy of this notice to:

Child and Adult Care Food Program Community Nutrition Services Division of Child and Family Well-Being 1914 Mail Service Center Raleigh, North Carolina 27699-1914

The agency will fully consider all information you provide before making a review decision in this matter. Following the informal review, the agency will notify you of its decision in writing and of your appeal rights, in the event the agency's review decision is not satisfactory to you.

2) Alternatively, you may waive your right to an informal review and request a formal appeal of the amount owed to the State Agency by filing a petition for a contested case hearing with the Office of Administrative Hearings (OAH) in accordance with N.C. Gen. Stat. §130A-24 and N.C. Gen. Stat. §150B-23(a). A petition form is enclosed for your convenience. In addition, a petition form can be obtained online at http://www.ncoah.com, by calling OAH at (919) 431-3000, or by writing them at the address below:

Office of Administrative Hearings 6714 Mail Service Center Raleigh, NC 27699-6700

Your petition, both the original and a copy, must be filed with OAH within fifteen (15) days of receipt of this notice. If you file electronically or by fax, please designate your petition as "CACFP Expedited". If you file a petition, you must also serve a copy of the petition on:

Julie Cronin
Department of Health and Human Services
Office of Legal Affairs
2001 Mail Service Center
Raleigh, NC 27699-2001

Please note, you should receive **fifteen (15) days** advance notice from OAH of the time, date, and location of your hearing. Furthermore, no continuances will be granted by OAH for any reason due to the time limitation imposed by 7 C.F.R. §226.6(k)(5)(ix) for rendering a final decision.